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BASIC EXPONENTIAL INEQUALITIES II

TABLE–SELECTION GAME
Select one correct answer for each of the questions in the test and press theFinish button at the end. The answers will be validated automatically.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



FINISHSCORE

Find the solution set of each of the given inequalities.
1. 2x > 1 (0;∞)(−∞; 0)[0;∞)(−∞; 0] (0;∞)(−∞; 0)[0;∞)(−∞; 0] (0;∞)(−∞; 0)[0;∞)(−∞; 0] (0;∞)(−∞; 0)[0;∞)(−∞; 0]
2.

(12
)x
≥ 1 (0;∞)(−∞; 0)[0;∞)(−∞; 0] (0;∞)(−∞; 0)[0;∞)(−∞; 0] (0;∞)(−∞; 0)[0;∞)(−∞; 0] (0;∞)(−∞; 0)[0;∞)(−∞; 0]

3. 1 > 3x−1 (1;∞)(−∞; 1)[1;∞)(−∞; 1] (1;∞)(−∞; 1)[1;∞)(−∞; 1] (1;∞)(−∞; 1)[1;∞)(−∞; 1] (1;∞)(−∞; 1)[1;∞)(−∞; 1]
4. 25 > 5x (2;∞)(−∞; 2)[2;∞)(−∞; 2] (2;∞)(−∞; 2)[2;∞)(−∞; 2] (2;∞)(−∞; 2)[2;∞)(−∞; 2] (2;∞)(−∞; 2)[2;∞)(−∞; 2]
5.

(13
)x

< 13 (1;∞)(−∞; 1)[1;∞)(−∞; 1] (1;∞)(−∞; 1)[1;∞)(−∞; 1] (1;∞)(−∞; 1)[1;∞)(−∞; 1] (1;∞)(−∞; 1)[1;∞)(−∞; 1]
6.

(56
)x

< 65 (−1;∞)(−∞;−1)[−1;∞)(−∞;−1] (−1;∞)(−∞;−1)[−1;∞)(−∞;−1] (−1;∞)(−∞;−1)[−1;∞)(−∞;−1] (−1;∞)(−∞;−1)[−1;∞)(−∞;−1]
7.

(16
)x
≤ 36 (−2;∞)(−∞;−2)[−2;∞)(−∞;−2] (−2;∞)(−∞;−2)[−2;∞)(−∞;−2] (−2;∞)(−∞;−2)[−2;∞)(−∞;−2] (−2;∞)(−∞;−2)[−2;∞)(−∞;−2]

8. 12 > 22−x (3;∞)(−∞; 3)[3;∞)(−∞; 3] (3;∞)(−∞; 3)[3;∞)(−∞; 3] (3;∞)(−∞; 3)[3;∞)(−∞; 3] (3;∞)(−∞; 3)[3;∞)(−∞; 3]



Great, now you can try solving one of the
Millennium Prize problems!

Super-duper!
That is what I call a fine job!

You can go celebrate!You are an Einstein!That was excellent!Great. Next time you won’t make any mistakesYou are so close to victory,
don’t give up!

You are so close!
You just made a misclick.

A small step remains,
next time will be glorious!

Almost there.
I’m sure you’ll even do better next time.

Wasn’t the worst, but next time eat a piece of
chocolate and it will definitely be better.

Not bad! In some areas you haven’t got enough
knowledge yet.

It is not so bad, but you still have
a lot to catch up on.

Not great, not terrible.
You are somewhere in the middle.

You understand this a bit,
but you still need to practice.

You may not be a future Fields Medal laureate,
but you can do better on this test.

Hey, it could be worse, right?You avoided an F, but that doesn’t mean you don’t
have to study more.

Could be worse!That was a close shave! Study more, next time
you might not be that lucky to pass.

Have you ever seen the way a chicken flies?
You solve math problems that way. . .

The awkward moment, when the only thing on your
exam you know is your name.

There was a time
Einstein couldn’t count to 10 either.

The stars weren’t aligned in your favour today.Do you know that you have to click
on the right answer?

Correct answers:




